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1.661x107" kg = 931.5 MeV / ¢? = | atomic mass unit £l dnestf sasg )
1.602x107" J = electronvolt c.dgs ¢y9ymesl] )
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a+pf+y=nx

a’ =b® + ¢ - 2bc cos «

b® = c* +a* —2ca cos

¢’ =a’+b*—2ab cosy
a b c

sing sing  siny

cos(@i%jzis

cos(d+ ) =-cos

_\./\_

ing@ tan(ei il jz— 1 =—ctné
2 tané@
7 tan(@+x)=tanéd

:Properties of a triangle clice oig> ©
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tan 0
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(5,00

AB

00° ;8?3"\2—0"/600

7
0

L
T
o

360°

(3-_?-))) 0

9p° /90" 27

00/6.00
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sin(z—6@)=sin 0
cos (#—8)=—cos 6
tan(r—-60)=-tan 0

01 Bl dassyis BN oyl deilly Lo

sin(z+6)=-sin 6
cos (7 +6)=-cos @
tan(z+60)=tan @

S L dadys il ol gyl 2 1y

sin (—=@) =—sin 6
cos (—8)=cos @
tan(-0)=-tan @
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